Wyl - Wyrzutowy

Nazwa: C1
Typ: Czerpny
Opis:
Sys. [ Nr{Szt. Nazwa Wymiary Materiat | Pow. [m2]| Pow. catk. [m2]| Producent | Uwagi
ci|af 1| Prostokama ool h= 200 stal Ogdlne
czerpnia scienna
c1l2]1 Przewsd a= 200| b= 200 1= 425 ocynk 0,34 0,34 Ogolne
prostokatny
ci|3|1 Redukcja a= 315\ b= 500 |c= 200 d= 200|1= 250|e= O|f= O | ocynk | 0,64 0,64 Ogolne
asymetryczna
Nazwa: N1
Typ: Nawiewny
Opis:
Sys. | Nr| Szt. Nazwa Wymiary Material | Pow. [m2]]| Pow. catk. [m2]] Producent | Uwagi
NL 1] 1 Kolano alfa= 90| a= 500 |b= 125\ d= 315|e= 50 |f= 75|r= 100| ocynk 0,92 0,92 Ogolne
asymetryczne
Kolano ,
N1 ([f2]1 alfa= 90| a= 500 | b= 315| d= 125(e= 50 |f= 50|r= 100 ocynk 0,88 0,88 Ogoblne
asymetryczne
Ny | 3| o | Thumikkanalowy ) aig) o 500 | 1= 600 ocynk Ogélne
prostokatny
Kolano ,
N1 ([4]1 alfa= 90| a= 500 | b= 315| d= 160(e= 50 |f= 50|r= 100 ocynk 0,94 0,94 Ogoblne
asymetryczne
Asymetryczne
N1]5]1 przejscie a= 500 b= 160 | d= 160| g= 40 |l= 250(e= O|f= O ocynk 0,33 0,33 Ogolne
koto/prostokat
N1 [6] 1 | Przewddokragly | d1= 160| I1= 777 ocynk 0,39 0,39 Ogolne
NL |76 Kolano alfa= 90| r= 1 [di1= 160 ocynk 0,19 1,14 Ogolne
segmentowe
N1 | 8] 1 | Przewod okragly | dl= 160 IL= 3800 ocynk 1,01 1,01 Ogolne
Przeciwpozarowa
N1 ] 9| 2 | klapa odcinajaca | D= 160 P= 580 Ogolne
EIS 120
N1 |10| 1 | Przewodd okragly | d1= 160 11= 405 ocynk 0,20 0,20 Ogdblne
N1 |11]| 1 | Przewod okragly | d1= 160 11= 958 ocynk 0,48 0,48 Ogdblne
N1 | 12| 2 | Odsadzka okragla [ d1= 160 e= 275 |11= 400 ocynk 0,38 0,76 Ogdblne
N1 | 13| 1 | Przewodd okragly | d1= 160 11= 463 ocynk 0,23 0,23 Ogdblne
N1 |14]| 1 | Przewod okragly | d1= 160 11= 728 ocynk 0,37 0,37 Ogdblne

Stronalz4




Wyl - Wyrzutowy

N1 [15] 1 | Przewod okragly | d1= 160] I1= 275 ocynk 0,14 0,14 Ogolne
N1 [16] 1 | Przewod okragly | d1= 160] I1= 210 ocynk 0,11 0,11 Ogolne
N1 [17] 1 | Przewod okraglty | d1= 160] 11= 3000 ocynk 1,51 1,51 Ogolne
N1 [18] 1 | Przewod okragly | d1= 160] I1= 100 ocynk 0,05 0,05 Ogolne
N1 |1g] 1 | Thumikkanalowy | 40| = 6o ocynk Ogblne
okragly
N1 |20| 2 | Ztaczka mufowa | d1= 160 ocynk 0,05 0,10 Ogdlne
Trojnik
N1 [21| 1| SYmeWenW - 160|d2= 160 [d3= 125 ocynk 0,20 0,20 Ogolne
redukcyjny 90
stopni
NL [22| 1 | PrESPUSIICR g g0l 1= 160 ocynk Ogolne
okragta
N1 [23] 1 | Przewod okragly | d1= 160) I1= 745 ocynk 0,37 0,37 Ogolne
N1 |24| 2 Kolano alfa= 45| r= 1 [di= 160 ocynk | 0,09 0,19 Ogélne
segmentowe
N1 [25] 1 | Przewod okragly | dl= 160] IL= 1250 ocynk 0,63 0,63 Ogolne
N1 |26 1 |  Preewdd = 160| 1= 386 aluminium| 0,00 019 Ogolne
elastyczny
N1 [27] 1 | Przewod okraglty | d1= 160) I1= 250 ocynk 0,13 0,13 Ogolne
Asymetryczne
N1 (28] 1 przejscie a= 150 b= 600 | d= 160| g= 40 |l= 300(e= O ocynk 0,80 0,80 Ogoblne
koto/prostokat
Skrzynka
N1 |29] 1 rozprezna Ogélne
nawiewnika
laminarnego
Skrzynka
N1 [30] 1 rozprezna L= 650| H= 650 Ogdlne
nawiewnika
laminarnego
N1 [31] 1 | Przewod okragly | dl= 125| IL= 250 ocynk 0,10 0,10 Ogolne
N1 (32| 1 | PRSI g a5l = 10 ocynk Ogolne
okragta
N1 [33| 1 Przewéd d= 125| I= 875 aluminium| 0,34 0,34 Ogolne
elastyczny
N1 |34] 1 Zawor D= 125 stal Ogolne
wentylacyjny
N1 2 | Ztaczka nyplowa | d1 = 160 ocynk 0,04 0,08 Ogolne
Nazwa: W1
Typ: Wywiewny
Opis:
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Sys. [ Nr{Szt. Nazwa Wymiary Materiat | Pow. [m2]| Pow. catk. [m2]| Producent | Uwagi
Wywiewnik
wi | 1| q | Sciennyzfiltem | gt 500 | D= 180|BD = 355 Ogélne
absolutnym z wyw.
perforowanym
W1 1 | Zigczka mufowa | d1= 180 ocynk 0,05 0,05 Ogoblne
wil|3]| 1 Redukcja di= 180|d2= 160 |I1= 55 ocynk 0,08 0,08 Ogolne
symetryczna
wifa|a| FPreewdd = 160| 1= 857 aluminium| 0,43 043 Ogblne
elastyczny
W1 | 5] 1 [ Przewdd okragly | d1= 160( 11 = 1500 ocynk 0,75 0,75 Ogolne
wi|6| 6 Kolano alfa= 90| r= 1 [di1= 160 ocynk | 0,19 1,14 Ogolne
segmentowe
WL [ 7| 1 | Przewod okragly | d1= 160] IL= 245 ocynk 0,12 0,12 Ogolne
wi|g| 1| PrESPUSIICE g 60| 1= 160 ocynk Ogolne
okragla
W1|9]| 1 | Zigczka mufowa | dl= 160 ocynk 0,05 0,05 Ogdblne
wi [10] 1 | Thumikkanalowy |y 66t 1= gop ocynk Ogblne
okragly
WL [11] 1 | Przewod okragly | d1= 160] IL= 283 ocynk 0,14 0,14 Ogolne
w1 (12| 1 Kolano o= 50| r= 1 [d1= 160 ocynk | 0,06 0,06 Ogolne
segmentowe
W1 |13] 1 [ Przewdd okragly | d1= 160f 11 137 ocynk 0,07 0,07 Ogolne
W1 |14] 1 [ Przewdd okragly [ d1= 160( 11 = 3000 ocynk 1,51 1,51 Ogolne
Przeciwpozarowa
W1 | 15| 2 | klapa odcinajagca | D= 160 P= 580 Ogoblne
EIS 120
W1 16| 1 [ Przewdd okragly | d1= 160| 11= 408 ocynk 0,20 0,20 Ogolne
W1 [17] 2 | Odsadzka okragta | d1 = 160 = 275 |(11= 400 ocynk 0,38 0,76 Ogolne
W1 |18] 1 [ Przewdd okragly | d1= 160| 11= 463 ocynk 0,23 0,23 Ogolne
W1 |19] 1 [ Przewdd okragly | d1= 160| 11= 658 ocynk 0,33 0,33 Ogolne
W1 20| 1 [ Przewdd okragly | d1= 160f 11= 130 ocynk 0,07 0,07 Ogolne
W1 21| 1 [ Przewdd okragly [ d1= 160( 11 = 1255 ocynk 0,63 0,63 Ogolne
W1 22| 1 [ Przewdd okragly | d1= 160| 11= 767 ocynk 0,39 0,39 Ogolne
Asymetryczne
W1 |23] 1 przejscie a= 500 b= 160 | d= 160| g= 40 |l= 250(e= O |f= -340| ocynk 0,33 0,33 Ogolne
koto/prostokat
Thumik kanatowy .
Wi |24 1 a= 160 b= 500 | 1= 600 ocynk Ogblne
prostokatny
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wi [25] 1 Kolano alfa= 90| a= 500 |b= 315\ d= 160|e= 50 |f= 50|r= 100| ocynk 0,04 0,04 Ogolne
asymetryczne
W1 1 | Ztaczka nyplowa | d1 = 160 ocynk 0,04 0,04 Ogdlne
Nazwa: Wc
Typ: Wywiewny
Opis:
Sys. | Nr| Szt. Nazwa Wymiary Materiat | Pow. [m2]| Pow. catk. [m2]{ Producent | Uwagi
Wec [ 1| 1 |Wentylator osiowy| d= 125 Ogolne
Wc | 2| 1 | Przewddokragly | d1= 125] 11= 80 ocynk 0,03 0,03 Ogdlne
Nazwa: Wyl
Typ: Wyrzutowy
Opis:
Sys. | Nr| Szt. Nazwa Wymiary Material [Pow. [m2]]| Pow. catk. [m2]| Producent | Uwagi
wyi| 1] 1 Kolano alfa= 90| a= 500 |b= 315\ d= 160|e= 50 |f= 50|r= 100| ocynk 0,04 0,04 Ogolne
asymetryczne
Asymetryczne
Wyll 2| 1 przejscie a= 500 b= 160 | d= 160| g= 40 |l= 250(e= O |f= -340| ocynk 0,33 0,33 Ogolne
koto/prostokat
Wyl| 3 [ 1 | Przewdd okragly | d1= 160) I1= 1302 ocynk 0,65 0,65 Ogolne
wyl| 4| 2 Kolano alfa= 90| r= 1 [di1= 160 ocynk 0,19 0,38 Ogolne
segmentowe
Wy1| 5| 1 | Przewod okragly | dl= 160] IL= 3723 ocynk 187 187 Ogolne
Przeciwpozarowa
Wyl| 6 [ 1 | klapa odcinajaca | D= 160| P= 570 Ogolne
EIS 120
Wy1| 7 | 7 | Przewod okragly | dL= 160] IL= 6000 ocynk 3,01 21,10 Ogolne
wyt| g | 1 [Podstawadachowal 1651 = 1000| A= 220 B= 220 ocynk Ogdlne
okragta
Wyrzutnia _ _ _ ,
Wyl| 9| 1 dachowa okragla L1= 320|D1= 160 | H= 215 ocynk Ogolne
Wyl 6 | Ztaczka nyplowa | d1= 160 ocynk 0,04 0,24 Ogolne

Strona4z4




